Sr Questions Answers Choice

1860
1789
1875
1870

1 53 38U S (0l Dy (e A5 el

iad by s )
Adac

el

ol

2 S SoSd8E S o S 1973 S gasly

E e
Sy
shu |

R

3 08 S S QS B o 0 s (s a3 (S i ) (K (S ) A

o= A S
oal 8 Glate S I3
R b

4 G O i S S el €1 e i

Sl
st
ol G
‘!A:LI-A

5 G o i S o ginl 1S 3L

10 sws
10 e
10 »s&
10 <)

6 st e o 80 S 5 i S e 2 S G S sase ol 8 Jls

1945
1947
1946
1945

7 1S Jsbie (S S e oalle e o S G i oasa ) -

8 ap s S S ol e e e

9 =Sl o Seld gl (S AU ES e (e il -

10 B oS S O S ol il 8 G R )5

" L la LS Sl ) (e (52 -

12 U S il slE S g i

13 G ot s S S (5 e ) (o Dhd S

14 LBl S (S i

15 s daala sl TS Cy b

UOW» DOW » DOWP UOWr UOWP UO0Wr 0U0WP» U0Wr 0U0Wr 0U0WP» U0Wr 00U» U0WP» U0Ww:r 00w
I g W



16

17

18

19

20

2 e S i K-

S eosralS A S o e

o B S saxia ol -

LS s 5 sl o S 58 (S s ) Jasie-

=S SO Gamsd IS (e s e oo S

Ow>» DO

DOoU» DOW» DOUP

]
< pal
) 50
Sl
B
BN

1940
1947
1949

L el llae



